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UNIT 2: URBANISATION - LANGUAGE
1. Vocabulary

1.1. Task 1 Unit 2 I&p 12

Look at the conversation in GETTING STARTED again. Match the words in the
conversation with the appropriate definitions. (Xem cudc tro chuyén trong GETTING
STARTED lan nira. Noi cac ttr trong cac cudc tro chuyén voi cac dinh nghia thich hop.)

urbanisation (n) a. the period of time when a
country develops a lot of

industries on a wide scale.

G overload (V) 1 b. A population shift from rural

to urban areas.

6 industrialisation (n) J c. stop paying attention

. . d. relating to the practice or
d apricaitusal facy) ] science of farming

- e. give too much information,
a switch off (v) J work or responsibility.

Guide to answer

1.b 2.e 3.a 4.d 5.c ‘

1. urbanisation (n) - A population shift from rural to urban areas. (d6 thj héa: mét sw thay déi
dan so ttr ndng thén ra thanh thj)

2. overload (v) - give too much information, work or responsibility. (qué tai: dwa ra qué nhiéu
théng tin, lam viéc hodac trach nhiém)

3. industrialisation (n) - the period of time when a country develops a lot of industries on a
wide scale. (c6ng nghiép hoéa: khoang thoi gian khi mdt quoc gia phat trién nhiéu nganh céng
nghiép trén quy mé Ién)

4. agricultural (adj) - relating to the practice or science of farming (thuéc vé néng nghiép: lién
quan dén viéc thyrc hanh hodc khoa hoc cta néng nghiép)

5. switch off (v) - stop paying attention (tat, dirng: khéng dé y)
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1.2. Task 2 Unit 2 I&p 12

Complete the sentences with the correct form of the words in 1. (Hoan thanh céau v&i
hinh thire dung caa tor trong bai 1)

Guide to answer

1. The impact of increased has been
harmful to the environment and has led to the
growth of greenhouse gas emissions.

2. Students can easily their short-term
memory with unnecessary information.

3. The lecture was hours long and boring, so by
the end of it, I completely :

4. Before the Industrial Revolution in England,
the majority of the population were employed as
labourers.

5. The transformation of China into a modem
economy started in 1950s through the process of

1. urbanisation

2. overload 3. switched off

4. agricultural

5. industrialisation

1. The impact of inereased urbanisation has been harmful to the environment and has led
to the growth of greenhouse gas emissions. (Tac dong cua viéc gia tang do thj hoa dé gay
hai cho méi trirong va dan toi sw gia tang khi thai nha kinh.)

2. Students can easily overload their short-term memory with unnecessary information. (Hoc
sinh c6 thé dé dang qua tai by nhé trong mét thoi gian ngan véi nhikng théng tin khéng can

thiét.)

3. The lecture was hours long and boring, so by the end of it, | completely switched off. (Bai
giang kéo dai hai tiéng va nham chan, do dé, dén khi két thuc, toi hoan toan hét nang lwrong.)

4. Before the Industrial Revolution in England, the majority of the population were employed
as agricultural labourers. (Trwoc cach mang céng nghiép & Anh, phan I6n dén s6 dugc
tuyén lam nguwoi lao ddng néng nghiép.)
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5. The transformation of China into a modern economy started in 1950s through the process
of industrialisation. (Sw chuyén déi thanh mét nén kinh té hién dai cua Trung Qudc bat dau
tte nhiing nam 1950 qua qua trinh céng nghiép hda.)

1.3. Task 3 Unit 2 I1&p 12

Match a word on the left with a word on right to make a compound adjective. (N6i mét
tee bén trai voi mot tie bén phai dé tao mét tinh tir ghép.)

[ 1. weather | [ 2. wide |
[ 2. well | [ b. beaten |
[3.long | [ c.paid |
[ 4. year | [ d market |
[ 5. world | [ e round |
[ 6. down | [ lasting |

Guide to answer

. weather-beaten: thoi tiét xau
. well-paid: trd lwvong cao
. long-lasting: kéo dai lau
. year-round: quanh nam

a A ODN -

. worldwide: rong khap thé gidi
6. downmarket: thi trwdng cap thap

1.4. Task 4 Unit 2 I&p 12

Complete the text below with the compound adjectives given in the box. (Hoan thanh
van ban dwdi day vdi cac tinh te ghép duwoc duwa ra trong khung)

long-term fast-growing weather-beaten
well-paid up-to-date

Many young people in rural areas don't want to spend

their lives on the farm like their (1) parents. They
understand that there are better (2) job prospects
for them in the city. So they leave the home villages to
find (3), jobsin the (4) industrial zones.

In the ciy, young people can also have access to (5)
facilities and technology.
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Guide to answer

1. weather-beaten | 2. long-term 3. well-paid

4. fast-growing 5. up-to-date

Many young people in rural areas don’t want to spend their lives on the farm like their
(1) weather-beaten parents. They understand that there are better (2) long-term job
prospects for them in the city. So they leave the home villages to find (3) well-paid jobs in
the (4) fast-growing industrial zones. In the city, young people can also have access to
(5) up-to-date facilities and technology.

Tam dich

Nhiéu thanh thiéu nién & noéng thén khéng mudn lam viéc ca ddi trén canh déng nhw cha me
day dan swong gié. Ho hiéu rdng cong viéc dai han c6 trién vong tét hon danh cho ho 1a &
thanh phd. Vi vay ho roi ngéi lang ctia ho di tim cong viéc dwoc tra lwong cao trong cac khu
coéng nghiép. Trong thanh phd, thanh thiéu nién cé thé tiép can véi nha may va céng nghé
ngay cang phat trién.

2. Pronunciation

2.1. Task 1 Unit 2 I&p 12

Listen to the conversation and pay attention to the pronunciation of the underlined
parts (Nghe doan hdi thoai va chu y dén cach phat am cta cac phan gach chan)

Joe: Hi, Mikel Joe: ['ve just come back from the city

Mike: Hello, Jog! | haven't seen you for ages.  Mike: Did you take the train?

You look tired Joe: Yes_ but it took five hours! The journey was really siow and

it was so noisy and crowded

Mike: Well trains are slill slower than coaches

Joe: Sure They should replace them with new high-speed
trains. Next time ['ll go by coach. And how are you?

Mike: Well life hasnt changed much for me. | still live and work
on my farm with my wife, but my sons and daughters have all

Q* moved to the city
% 0o YoUu KNOW..? Joe: So you really like it here in the countryside?
+ A diphthong is a sound made by combining two Mike: Yes, | do | keep heaning about all the cnmes. noise and
vowels into a single one. pollution in big cities, especially in the industrial zones. My wife is
+ The first part of a diphthong is much langerand ~ so wormied about our children that she calls them almost every
+ There are eight diphthongs in English: /1a/, /ea, )
foal, feﬂ.ﬁf:tﬁ'w# nd IE:?. Joe: They're young and the city life is mare interesting for them

Example They will also have better career prospects

(ta/ - here, /ea/ - where, /ua/ - poor, /er/ - rain, Mike: Yes, | agree. They have managed to find well-paid jobs
fay/ - life, 21/ - noise, fau/ - hello, /av/ - how and are really enjoying life there
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Tam dich

Joe: Xin chao, Mike!

Mike: Xin chao, Joe! Ba lau khdng gap ban. Trong ban cé vé mét mai!

Joe: T& vira tir thanh phé vé.

Mike: Ban da di tau sao?

Joe: Bung vay, nhwng méat 5 gio’! Hanh trinh rat cham, én ao va rat déng duc.
Mike: Bung vay, xe Ira vAn cham hon so v&i xe khach.

Joe: Chac chan rdi, ho nén thay thé ching bang nhirng chiéc tau mai, téc do cao. Lan téi to
sé€ di bang xe khach. Ban cé khée khéng?

Mike: T& khde, cudc sbng khong thay dbi nhiéu véi té. T van sdng va lam viéc & trang trai
clia minh v&i vg, nhwng con trai va con gai cua té tat ca da chuyén t&i thanh pho.

Joe: Vi thé ban thyc sy thich & néng thén?

Mike: DUng vay. T& van nghe tin tirc vé t6i pham va 6 nhiém tiéng on & cac thanh ph lon,
dac biét la cac khu cong nghiép. Vo to rat lo lang cho nhitng dira tré, vi vay c6 ay goi cho
chung hang ngay.

Joe: Chung con tré va cudc song thanh phd rét tha vi voi ching. Chung cling sé co trién
vong nghé nghiép tot hon.

Mike: U, t& cting nght vay. Chudng da tim dwoc viéc dugc tra lwvong cao va thyc sy tan
hwéng cudc song & do.
2.2. Task2 Unit 2 I&p 12

Now listen to the conversation in 1 again. Pay attention to the diphthongs in the
conversation. Practice it with a partner. (Bay gio nghe doan hi thoai trong phan 1 lan
nira. Hay chu y dén nguyén &m doi trong cudc tro chuyén. Thuc hanh véi mdt nguoi ban.)

3. Grammar

3.1. Task 1 Unit 2 I&p 12

Complete the sentences, using the correct form of the verbs in brackets. (Hoan thanh
cac cau, str dung hinh thire diang cua déng tir trong ngodc don.)

1. Itis important that he (get) into a good university.

2. The teacher demanded that the classroom (clean) immediately.
3. My father insists that my brother (work) on the farm.

4. It is vital that people (allow) to choose where to live.

5. | requested that everyone in my class (attend) my presentation.
6. It is crucial that urban people (not look down on) rural people.
Guide to answer

1. (should) get

2. (should) be cleaned
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3. (should) work

4. (should) be allowed

5. (should) attend

6. (should) not look down on

Tam dich

1. Quan trong la anh Ay nén dwoc nhan vao mét trweérng dai hoc tét.

2. Gigo vién yéu ciu I6p hoc nén dwoc don dep ngay lap tic.

3. B4 cda t6i nhAn manh réng anh trai tdi nén lam viéc & nong trai.

4. Quan trong 1a moi ngwdi nén duwoc phép lwa chon noi séng.

5. T6i y&éu cau moi ngudi trong |&p cla t6i tham gia vao bai thuyét trinh cla t6i.
6. Quan trong la ngwoi thanh thi khéng dwoc coi khinh ngwdi ndng thén.

3.2. Task 2 Unit 2 I&p 12

Complete the sentences with the verbs in the box. Use the appropriate form. (Hoan
thanh céu vdi dong tir trong khunng. Str dung cac hinh thire thich hop.)

tell return study obey search

| 1. Her parenfts insisted that she
| hard for the GCSE.

2. It is essential that young people from
rural areas the truth about city.

3.1t is imperative that all migrants
the rules and regulations of the
residential areas they move to.

4. The police demanded that the stolen

money to the bank.
5.1t is a good idea that the police
for the missing people.
Guide to answer
1. (should) study 2. (should) be told
3. (should) obey 4. (should) be returned
5. (should) search/ (should) be searching
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Tam dich
1. B4 me c6 4y khang dinh rang ¢6 hoc rat cham chi cho ki thi GCSE.
2. Diéu can thiét 13 nguoi tré & vang ndng thén dwoc ké su that vé cudce sdng thanh thi.

3. Biéu bat budc rang tat ca nhirng ngwdi di cw phai tuan theo cac quy tac va quy dinh cia
khu dan cw ma ho chuyén dén.

4. Canh séat yéu cau tién bi danh cép nén dwoc tré lai cho ngan hang.
5. D6 1a moét y kién hay khi canh sat tim kiém nhirng ngudi mét tich.

4. Practice Task 1

Choose one option (A, B, C or D) to indicate the underlined part that needs correction
in each of the following questions. (Chon cac phwong an A, B, C hay D dé xac dinh nhitng
phan gach chén can phai dwgrc stra lai trong nhikng cau sau day)

Question 1: Last night, while | studied with my tutor, Jane called and asked me out.
A. while

B. studied

C. called

D. asked

Question 2: His friends suggested that he chooses Hanoi University rather than National
University.

A. suggested
B. that

C. chooses
D. rather than

5. Practice Task 2

Choose the best answer A, B, C or D to complete the sentences (Chon phuwong én A, B,
C hay D dé hoan thanh cac cau sau déay)

Question 1: is what shaped our cities into what they are today.
A. Electrification

B. Industrialisation

C. Determination

D. Urbanisation

Question 2: The lack of running water, and inadequate housing leads to deadly
conditions in the slums in many cities in Africa.

A. sanitation
B. irrigation
C. urbanisation
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D. industrialisation

Question 3: His face was lined and
A. weathered

B. weatherproof

C. weather-beaten

D. weather-beating

6. Conclusion
Két thuc bai hoc Unit 2 Tiéng Anh mé&i Lép 12 — Language, cac em can nédm:

o Ontap cac tir vng quan trong cla bai: urbanization (n), overload (v), industrialization
(n), agricultural (adj), switch off (v)

e Biét cach sir dung va ndm nghia céc tinh tir kép trong Tiéng Anh

e Nhéan dang va phat am chinh xac diphthongs

e SUr dung cau gia dinh trong ménh dé cé “that”
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